1.

oS 2 OA tan15° ©f 20l a+bV3 L o, a+b ©] S Fstelet




2. tanA =05 <Y o, sin A +cos A 2] Z22(, 0° <A <90°)

@4«/5

@ ; 5

5



e TRl AR Yol g & Ta
AR

@ 24cm? @ 24v2cm?

® 24v3cm? @ 48cm?

® 48+v2cm?




4. o3 O} Zo] vixFe] dolrb 5 9l ¢ A
0 °f] YH35H= AABC o4 BC = 6 & o,
sin A ©] 27

T

e~ w

@ )
@ -7 ®

M\COH;‘S

| wor| w




5.0ptAB o that 915:710] Z17]7} 450 o]
T, AB = 12cm & ®, 214 0 9] Yol

=7
@ 9rem? @ 187 cm?
® 36mcm? @ T72mcm?

® 1447 cm?



6. x=45°¥ o, sinx, cosx, tanx®] WAE H|w5}oe}.

5 S
=%




nITY
T o
upile
B
il .
Z‘W_l,n_.w!
W X
ol o -
o0 B
o
=N
X o
X e
7_|_,AH_|
—_—
TN
or
dﬂc_.;.o
BOE =
H N
_ueBﬂﬁ
o_emﬂu
= 0
X -
GO
of ™ W
X TR TR

cm?®



8. TR IHoA YR Eol nE? (B, V3 =172 A4t )

A

/ $ ’“

50° 60° | i
“~30m-"C D

@ 21.5m @ 22.5m @ 23.5m

@ 24.5m ® 25.5m






10.

ohe YT gL A%

AC=4cm ¥

©
N W

, sinx

A7+s ABC o4 ADLIBC , AB = 3cm ,

5
3

N |



11.

o2 g3t Zo] gt §e] Zojy
ol HAFHAA A - BCD o4 BC
ZHESET 5, LAED =x ¥
cosx 9 g7

F2
_g}
u

)

©
N
®
W =




12.

tan(A — 15°) = 1 ©]4l, x? — 2xtan A — 3(tan A)?> = 0 9]
TEFH? (00 < A <90°)

@ 3+v3, 243 @ -3, 3V3 ® 23
@ 23, V3 ® -3, -3v3

=
e

1
.

tlo



13. o8 104 AABC ¢ Ho|= F#5}o] A
2},
D 24+4V3 @ 24+8+3
® 48 +4V3 @ 48483
® 48 +16+3




14. o5 293 Zo] 7hFo] 50m Q1 F A& o
AAE SAH B B STt & 7} /
T 300 o], Wett 2 ZhE 450 & 4359
o), B 712 ol
A~S50m-" B
@® 50 (sin30° + sin45°) m @ 50 (tan 30° + tan 45°) m

® 50 (cos30° 4+ cos45°) m @ 50 (sin30° + tan45°) m

® 50 (cos30° + tan45°) m



15.

o5 J1 3} Zro] YA ABCD
°] &= ¥ BC,CD 9 8 747
M,N o]2} stal AM, AN ¥} oz}
4 BD ¢t W& EF 2 5hAk
AE =8, AF = 11, /EAF = 30°
o o, gEMNF 9] Ho]& 5t
2},

D L
=¥




16. g A AHZ+d ABCEAB:BC:CA =5:4:3¢l Az

2}90]7 AB = BD 2 1, tan(£ADB) ¢ 32 Fotoik.

MA
D B C



17. o3 "3 22 AABC 9] 91 O 9|4 /BOC = 120°, /OBC =6
O],
cos @ x cos A + sin 6 x sin A 2] 327

A

B C

LN
N

@ V3 ®7+1
-1 ® V3+1

® ©
o[zl



18. sin(A —20°) = cos(A +50°) & o, tan(A + 30°) & Ft-= otofet.
(2, 0° < A < 90°)

D L
-



19. ©he 29T 2L A7l A AC o) 2 A
ol Fatolet.




20. TH 1¥o)A oABCD 9] Wol=?

D 18 V3cm? @ 21+V3cm? ® 2543cm?
@ 274/3cm? ® 3043cm?



